HOMEWORK #3
The goal of this program is to gain experience in arithmetic calculations, heading and footing lines, and use of occurs clause with tables and subscripts.  You must use top-down structure, subprocedures, and perform varying statements (NO hardcoded subscripts allowed).  DOCUMENTATION IS A MUST.  Make use of blank lines in the source code where appropriate.
Input file layout:

Positions

Description

1 – 7


Employee ID

8 – 22


Last name
23 – 37

First name

38 - 39


Employee type
(current values: 01, 02, 03, 04, 05, 06, 07, 08, 09, 10)

40 – 56

Classification

57 – 65

Social security number
90 – 97

Date started in classification (MMDDYYYY)

100-105

Employee rate
  2 decimal points
106 


Employee status (H=hourly, S=salaried)

107 – 131

Deductions (5)   each is 5 bytes, 2 decimal positions      

Input file is:  
ZPROF.COB1.PROG3
Output:

Print no more than 25 LINES per page (BLANK lines count as a line) – not counting the heading lines – do not break a detail record.  Repeat headings at top of all pages.  Repeat business name heading on last page.  Accumulate and print totals as shown.

NOTE:  ALL PRINTED CURRENCY SHOULD BE ZERO SUPPRESSED AND ALLOW FOR COMMAS.  AVERAGES AND TOTALS SHOULD HAVE A FLOATING DOLLAR SIGN.    Printed counts, page number, record counts, rate AND deductions should be zero suppressed.
NOTE:  THE PAGE NUMBER SHOULD BE ZERO SUPPRESSED AND PRINT ON ALL PAGES OF THE REPORT.  DO NOT ROUND ANY  NUMBERS/AMOUNTS.  Use on size to catch any errors.
For the average calculations, do not hardcode any necessary numbers.

Output should resemble:

                                                                                                   1         1         1         1

         1         2         3         4         5         6         7         8         9         0         1         2         3

123456789012345678901234567890123456789012345678901234567890123456789012345678901234567890123456789012345678901234567890123456789012

 99/99/99                                        MASTERMIND COBOL, INC                                    PAGE 999
   EMP ID      SSN            NAME



       TYPE  TITLE                  DATE

   LAST             FIRST         
    
   XXXXXXXX    XXX-XX-XXXX    XXXXXXXXXXXXXXX    XXXXXXXXXXXXXXX     XX    XXXXXXXXXXXXXXXXX     XX/XX/XXXX
  









DEDUCT:
    999.99
RATE:  9,999.99    STATUS  X
 









    999.99











    999.99











    999.99











    999.99










TOTAL:
 $9,999.99

   XXXXXXXX    XXX-XX-XXXX    XXXXXXXXXXXXXXX    XXXXXXXXXXXXXXX     XX    XXXXXXXXXXXXXXXXX     XX/XX/XXXX
  9,999.99    X










DEDUCT:
    999.99
RATE:  9,999.99    STATUS  X

 









    999.99











    999.99











    999.99











    999.99










TOTAL:
 $9,999.99

   XXXXXXXX    XXX-XX-XXXX    XXXXXXXXXXXXXXX    XXXXXXXXXXXXXXX     XX    XXXXXXXXXXXXXXXXX     XX/XX/XXXX
  9,999.99    X










DEDUCT:
    999.99
RATE:  9,999.99    STATUS  X

 









    999.99











    999.99











    999.99











    999.99










TOTAL:
 $9,999.99

.
.

 99/99/99                                        MASTERMIND COBOL, INC                                    PAGE 999

 NUMBER OF EMPLOYEE RECORDS READ:

9999

 NUMBER OF HOURLY EMPLOYEES:


9999
AVERAGE HOURLY RATE:
      $999.99

TOTAL DEDUCT:
       $9,999.99
 NUMBER OF SALARIED EMPLOYEES:


9999
AVERAGE SALARIED RATE:
    $9,999.99

TOTAL DEDUCT:
      $99,999.99
YOU MAY want to consider one of these bonus options.
BONUS OPPORTUNITY 1:

FOR HOURLY EMPLOYEES:  IF THE TOTAL AMOUNT OF THE DEDUCTIONS IS GREATER THAN THEIR (RATE * 40 HRS) * 4 (WEEKS IN A MONTH) THEN PRINT THE SECOND DETAIL LINE AS:


DEDUCTIONS EXCEED MONTHLY EARNINGS






DEDUCT:
    999.99

FOR SALARY EMPLOYEES:  IF THE TOTAL AMOUNT OF THE DEDUCTIONS IS GREATER THAN THEIR SALARY THEN PRINT THE SECOND DETAIL LINE AS:



DEDUCTIONS EXCEED MONTHLY EARNINGS






DEDUCT:
    999.99

BONUS OPPORTUNITY 2: 
IF THE DEDUCTION AMOUNT IS EQUAL TO ZERO, DO NOT PRINT THAT PARTICULAR DEDUCTION AMOUNT.  THIS WOULD DECREASE THE AMOUNT OF PRINT LINES FOR AN INDIVIDUAL.

